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O2d=X&1 SHNHI 15,000
203 HE=H| 6,360 6,540 A180
MU A2 LRFAI 6,360 6,540 A180
O2ABXAL BAS
530,000 1204 & 6,360
el 2E | 896,732 949,330 A\52,598
7l 546,666
Ea 360,066
SS9 HE2HE 255,000 288,690 A33,690
101 @124H| 255,000 288,690 A33,690
02 JIEtM = 255,000 288,690 A33,690
OSSEAYA deegsHelrg 226,800
—&=29 1,500,000 8 * 1200 & 144,000
—aeel 1,200,000& «3& = 1201 & 43,200
— =t 300,000& x11H*120H & 39,600
OBELAA B+
50,0002 x11&* 12042 6,600
Oo=lg=e gsdd= 21,600
—gg 45,0003 16034 21,600
XD HIE! 2RI (2124H]) 336,000 336,000 0
Jl 268,800
[Ea 67,200
101 @124H| 336,000 336,000 0
Jl 268,800
= 67,200
03 SR (RINHA) 222+ 336,000 336,000 0
OFSBOIZ 0121H]
3,500,000 «8EH* 1200 & 336,000
) 268,800
[Ea 67,200
FHAXNAESS2AZHE Jl2t 22H| XIA(2]) 250,000 270,000 /20,000
Jl 250,000
101 @124H| 250,000 270,000 /20,000
) 250,000
03 SR (RINHA) 222+ 215,000 270,000 55,000
OFloX 2222712 Mol ol
53,750,000 x4 215,000
Jl 215,000
M ORINZZ2NSE S 35,000 0 35,000
OF e S32=712 JI12H 224 2
A 35,000,000 *1& 35,000
Il 35,000
HEEESSELUH 2 (2124]) 22,626 22,440 186
7l 11,313
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SN BT
M HARAZH|(A2XIRAD)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o 11,313
101 @1A4H| 22,626 22,440 186
Il 11,313
s 11,313
03 SR (FIH )22 UHE 4 22,626 22,440 186
ONYRE HUSERY 24X
1,885,500« 1200 & 22,626
Jl 11,313
s 11,313
=otZsoe(elAdl) 33,106 32,200 906
Il 16,553
Ea 16,553
101 @12A4H| 33,106 32,200 906
Jl 16,553
s 16,553
03 SRA(RIH )22 U2+ 33,106 32,200 906
ORINAAZZR B K=
33,106,000 1 +1 33,106
7l 16,553
= 16,553
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